





### Republic of the Philippines VISAYAS STATE UNIVERSITY Visca, Baybay City, Leyte

# **PURCHASE REQUEST**

PPMP No.: 138-1-1242-2023-11-0-22

Dept./Office: VIHS

PR No.: STF-2023-02-00186

Date: 02-13-2023

7,200.00

Section/End-User: Guada Fe D. Amihan

Category: Office Equipment

Funding Source: Special Trust Fund

Project Title/Code: VSUIHS Band Instruments

600.00

#	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	3 pc Trio Marching Drum Set	pcs	2	6,300.00		12,600.00

12

with	Rich	Tone
Spec	ificati	on:

7C Gold Plated Copper Professional Trumpet Mouthpiece with Rich Tone

• Material: Copper

· Color: Gold

7C Gold Plated Copper

**Professional Trumpet Mouthpiece** 

- Made of high-quality copper alloy
- · Compact size, easy to install

#### Size:

-7c: The sound is bright and used by most students and professional players worldwide.

pcs

- Trumpet mouthpiece 7C 3 size optional.
- Gold plating design, twinkling and stylish.

Package Weight: 95.0 G / 3.35 Ounces

Package Dimensions (L\*W\*H): 95\*30\*30 MM / 3.74\*1.18\*1.18 Inches

3	Bass Drum 24"	pcs	3	5,400.00	16,200.00

## Specification:

marching bass drums 24" diameter

10" drum height

Includes bass drum beater and drum strap.

9) 41

color: red

4 Bass Drum Beater Stainless pcs 5 150.00 750.00

#### Specification:

Bass Drum Beater

With Stainless Handle 35cm length

Brand: No Brand

Foam head: The head is solid, durable, elastic and easy to play.

Lightweight: These drumsticks are not heavy and they are not difficult to use.

It is an indispensable part of percussion instruments for drums and snare drums.

5 Bass Drum Head 24" pcs 6 1,000.00 6,000.00

## Specification:

Power Stroke Pro Bass Drumhead (Clear) -PE-100C

Quality, playability, durability, and high class performance for a low price! Your friendly music store is here to serve your musical needs! From pro audio equipment, to world class instruments, to rare parts

6 Bugle 7C pcs 3 2,600.00 7,800.00

### Specification:

#### Features:

High-quality B flat bugle.

Brass material with gold-plated surface, durable and exquisite.

Comes with a mouthpiece, providing you with excellent sound quality.

Ideal for school band, military orchestra, etc.

#### Specifications:

Color: Gold Material: Brass

Item Size: 7C (with mouthpiece)

Item Weight: 345g / 12.2oz (with mouthpiece)

## Package List:

1 \* Bugle

1 \* Mouthpiece

Cymbals 13" pcs 4 1,440.00 5,760.00

Specification: Premiere cymbals 13" Made of brass alloy. - Give out shining metal luster. - Offer you melodious tinkle sound when you hit the cymbal top. - Dig out your deep desire to play crazy and shocking melody. - Durable brass alloy cymbal is fun and educational for beginners, students and players. 8 Double Drum 14" 4,800.00 48,000.00 Specification: DOUBLE DRUM Diameter 14 inches Height 10 1/2 color: red 9 Double Drum Heads 14" pcs 30 600.00 18,000.00 Specification: 14 inches Drumhead Transparent (Double Ply Drumhead) Size: 14" inches Double Ply Drumhead Color: Transparent (Batterhead) Bright, Open Sound 10 Harness for Bass Drum pcs 3 1,800.00 5,400.00 Specification: Brand new. - Bass drum harness 11 Xylophone with holder and Lyre pcs 10 4,000.00 40,000.00 Specification: **Xylophone Complete Set with Case Beater and Sling**  Lyre Xylophone Complete Set with Case Beater and Sling size: Lyre Xylophone Complete Set with Case Beater and Sling Large- 25x18x 2 LxHxW (inch) TOTAL 167,710.00

ed by:	Funds Available:
LEO A. MAMOLO	AHCIA M FLORES & HE MISC
TWG - Office Equipmer	

Purp

Requested by:

Signature:

Printed Name:
Designation:

Requested by:

Noted by:

SHALOW GRACE C. SUGANO

EDGARDO E. TULIN 2/14

PRESIDENT, VSU

PRESIDENT, VSU